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Example
A soo by solid block of caree is

submerged under water and held by
an ideal cable

,
as shown The

density of cause is 2300 lams , & the

desity o water is 1000 horn"
.

Who

is the broynt force on the block ?

What is the tension is the cable ?

Nie the the tension measures the

apparat might.

Solution ---

The brogat force
is given by
-see

water
Cru

B :ProVg
Where V is volume o displaced mor







Example

Water stands o a deat D behind the

Vertical upstream face of adan .

Let W be the width f the dan.

(a) Find the Resulfat horizati face

excited on the dow by the

garge pressure
of the wate .

(b) Find the not torque due to

the garge pressure
of the water

excited about a line through C

paratel to the width of the dan.
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Example

wate emages from a
fact & neces down"

as if falls . The cross-section we

A
,
is 1 . 2 cn

,
& Az is 0 .

35 cnV.

the two leads are separated by

aretical difance h = 45 mm.

How long does it take to fill

a 100 a2 beaker ?

Solution -
-
-

- 7-conservati of mass -

dm
= par= consta iAt

So,

A ,v, = Azu [backe
Apply conservation of

ergy an flied elect

k
,
+ 0 ,

= kz + Uz

=> Law = Enr, 2 +migh



So
,

v22 = v, + 2gh

Now
,
solve far U,

Vi = 1

= ·u, =
= 0 . 286 +s = 28

. 6 Cars

39a = A
,
0
,
= 34m

Now,
value of beak

V = RT
7

=>
T = V =

100 -4
=
100 Cm

- -

R 34 <4% 34 23/

=2 .9 S *


